Ekonomski razvoj - kvizovi

Kviz 1

Development economics is concerned with

· all of the above

Development economists

· consider values in their analysis, because economic investigations cannot be considered separately from their institutional, social, and political contexts.

Development is now thought to mean

· economic growth, accompanied by dramatic change in social and political institutions, as well as in the attitudes of the people.

The three core values of development are

· sustenance, self-esteem, and freedom.

In a subsistence economy,

· a and c

Traditional measures of economic development include

· a and c only

Proponents of the "new" view of economic development

· believe that development should be thought of as a multi-dimensional process.

To Amartya Sen,

· development should be thought of as a process during which individuals' "capabilities to function" are enhanced.

Kviz 2

In the majority of developing countries, the principal economic activity is

· agriculture.

Developing countries are commonly characterized by

· d. all of the above

Infant mortality rates (the number of children who die before their first birthday out of every 1,000 live births) are typically
· under 10 in developed nations, but nearly 100 in the least-developed countries.

Countries with greater degrees of ethnic and religious diversity

· are more likely to have internal strife and instability.

The Human Development Index

· d. all of the above.

Which of the following is not one of Kuznet's six characteristics of modern economic growth?

· High rates of growth of per capita output and population

Although free trade is thought to have contributed to economic growth of today's economically advance countries, non-oil-exporting developing countries today struggle with

· e. a and b only

The migration of highly educated and skilled workers from developing countries to developed countries is

· commonly known as the "brain drain."

Unconditional convergence

· e. a and c.

Kviz 3

Which of the following are not among Rostow's stages of growth?

All of the above are among Rostow's stages of growth.

According to the Harrod-Domar model,

economic growth depends on saving and investing.

In the neocolonial dependence model, the world can be thought of as divided into

the "center" and the "periphery."

Public choice theory argues that from an economic development perspective,

the best government is a small government.

In the Lewis model,

a and b only.

In the Harrod-Domar model, suppose that the national capital-output ratio is 4. If the national net savings rate increases from 8% to 12%, the economic growth rate will increase from __________ to __________.

2%; 3%

For more rapid rates of economic growth, increased saving and investment is

a necessary but not sufficient condition.

The neocolonial dependence model is most closely aligned with which sort of thinking?

Marxism

Kviz 4

In endogenous growth models,

increasing returns to scale in aggregate production is permitted.

Which of the following is not a criticism of new growth theory?

New growth assumes technological progress is exogenous.

A situation in which economic agents' inability to co-ordinate their actions leads to an outcome that makes all agents worse off is known as

a coordination failure.

One implication of coordination failure models is

c. governments may on occasion need to make "deep investments" in order to move an economy towards a better and self-sustaining equilibrium.

In Kremer's O-ring model,

all of the above are correct.

The situation in which workers with high skill levels tend to work with other workers with high skill levels is known as

positive assortative matching.

Coordination failures are more likely when

b and c only.

An equilibrium is said to be "stable" when

b. the S-shaped function cuts the 45-degree line from above.

Kviz 5
Lorenz curves

both a and d are correct

The estimated number of persons worldwide living below the poverty line is closest to

1 billion.

The incidence of third-world poverty falls especially heavily on

b and c only

According to the Kuznets hypothesis,

income inequality first rises then falls as per capita income rises.

Assuming their Lorenz curves do not cross, if Country A's Gini coefficient is 0.72 and Country B's Gini coefficient is 0.38, we can conclude that

income is distributed less equally in Country A as compared to Country B.

In the last 10 years, the absolute number of persons living on less than $1 per day has declined in which of the following region(s)?

East Asia and Pacific

The poverty gap

b and c are both correct.

The Human Poverty Index measures poverty in terms of which three 'deprivations'?

economic provisioning, basic education, and life

Kviz 6
Malthus' "positive checks" on population growth include

b and c only

According to the pattern of the demographic transition, a country's population growth rate generally

starts out low, then increases, and finally falls once again.

The Malthusian notion of a population perpetually forced to live at subsistence levels of income is commonly known as

the Malthusian population trap.

According to the microeconomic household theory of fertility, children in poor societies are seen, at least in part, as economic investment goods because

a and c only

Prior to the industrial revolution of the 19th century, annual world population growth rates averaged

less than 0.5%.

The annual world population growth rate

c. seems to have peaked and is now falling.

A radical neo-Marxist view of the world's population growth situation is:
population control efforts are really an attempt by capitalist countries to reduce the relative number of the poor in the developing world.

Which of the following is not generally considered to be one of the major negative consequences of rapid population growth?

Decreased legal international migration.

Kviz 7
The urban informal sector

is made up of recent migrants from rural areas who are unable to find jobs in the formal sector.

Rural-urban migration is seen as

problematic, since urban areas cannot easily support the new migrants.

In the Todaro migration model,

a and b only

An implication of the Todaro migration model is that urban job creation is an insufficient solution to the urban unemployment problem because

· c. for every new job that is created, two or three additional migrants from rural areas will be attracted to the city.

The Todaro migration model suggests that rural-urban migration occurs whenever

· None of the above

In 2015, it is projected that the world's largest city will have approximately

· 30 million residents.

The notion that cities are generally formed because they provide cost advantages to both consumers and producers is known as

· agglomeration externalities.

On average, the proportion of citizens residing in the 'first city' is higher in countries with __________ and lower in countries with __________.

· unstable dictatorships; stable democracies

Kviz 8
Investments in health and education

b and c

In general, countries that have higher average number of years of education per person have

c. lower education Gini coefficients

Over the past 3 decades, average school enrollment rates

have increased for the world and for most developing regions.

Closing the educational gender gap is widely considered to be economically desirable because

a and b only

Comparing the costs and benefits, both private and social, of education leads economists to the conclusion that

the socially optimal strategy would be to focus on primary education

According to the World Health Organization, approximately how many people in the world were newly infected with HIV in the year 2000?

· 5,000,000

Malaria

is a growing problem today, and causes about 2 million lives each year.

Research has shown that

all of the above

Kviz 9

The "green revolution" has involved

new hybrid seed varieties, along with irrigation and chemical fertilizers and pesticides.

Latifundios are

large farms that provide employment for more than 12 workers.

Over the 1970 – 1994 period, per capita food production has

risen in the Far East and has fallen in Africa.

Women probably provide

a. more than half of agricultural labor in Africa and Asia.

Sharecropping is

a way for peasant farmers and landlords to both reduce uncertainty and risk.

Most of today's development economists believe that

agriculture must be a key component in any development strategy.

Land productivity (grain yield per hectare) is

- more than 50 times higher in the developed world as compared with the developing world, and the difference between them has increased

Land is __________ distributed in Asia as compared to Latin America; per capita land availability is __________ in Asia as compared to Latin America.

· more equally; lower

Kviz 10
Society's total net benefit from land will be lower under a system of

common property.

A good that provides a benefit to everyone and the availability of which isn't diminished by its simultaneous enjoyment by others is called a

- public good.

Environmental accounting

considers a nation's natural resources as part of that nation's capital stock.

An example of a negative externality is

All of the above

A pollution tax

leads to lower production levels.

The amount that can be consumed without diminishing the overall capital stock is called

sustainable net national product

Suppose an isolated village (that uses firewood for cooking) is built just outside a small forest. If the forest is considered common property, economists would predict that

· the forest will be overused.

Evidence indicates that most environmental destruction is caused by

the world's billion richest and the world's billion poorest people

Kviz 11

Market failure

a. is a justification for governmental intervention in LDCs.

The approach to planning that involves an examination of the interrelationships between sectors of the economy is called

· input-output modeling.

Which of the following is not a common reason for failures of economic plans in LDCs?

All of the above are common reasons for plan failure.

The International Monetary Fund (IMF) and the World Bank

c. generally believe in the virtues of the free market.
Economic markets in LDCs are imperfect because

all of the above.

Market prices of outputs and inputs may not give a true reflection of social benefits and costs because

a and b only.

A well-functioning market system requires which of the following preconditions?

b. enforcement of contracts and conditions of law and order.

The "Washington Consensus" held that

b and c.

Kviz 12

According to the Prebisch-Singer thesis,

a and d are both correct

Suppose the income elasticity of demand for product X is very low. This implies that

if income in the importing country rises by 1%, the quantity demanded of product X will rise by less than 1%.

The majority of LDC export products are

primary products.

The principle of comparative advantage involves

relative cost differences.

The factor endowment trade theory posits that

b and c only

North-South trade models typically argue that

b and c only

Suppose a mainly foreign-owned tobacco-growing company sets up operations in a developing country, bring with them their own capital and skilled labor, and hire local unskilled laborers. Such arrangements are commonly called

· enclave economies.

The share of developing country total exports going to other developing countries is now __________ it was in the 1960s.

· substantially higher

Kviz 13

Import substitution policies include

all of the above.

Rapid expansion of non-oil primary product export earnings is unlikely because

· income elasticities of most non-oil primary products are relatively low.

An artificially overvalued exchange rate causes

· b and c

Currency devaluation of an overvalued exchange rate is likely to lead to

d. inflation.

If a group of countries form a unit that frees internal trade, establishes a common set of external tariffs, but takes no further steps towards economic integration is called a

· customs union

Suppose that the free trade price of widgets is $5,000. Now widgets are produced with two inputs, zipples and flugles. Only one unit of each is required to produce one widget, and the free trade price of the inputs is as follows: $2500 per zipple and $1500 per flugle. Suppose there is a tariff on imports of widgets of 20%, making the tariff-inclusive price of widgets $6,000. Finally, suppose there are tariffs on zipples and flugles of 5% and 10%, respectively (so that the tariff inclusive prices of these inputs are $2,625 and $1,650. What is the effective rate of protection?

· 72.5%

If Malawi were to devalue its currency (the Malawi kwatcha), which of the following is not likely to occur?

· Malawi's exports would be more expensive for Americans to buy.

One of the principal barriers to export expansion by developing countries is

· trade barriers erected by developed countries.

Kviz 14
The capital account includes

d. grants from foreign governments.

During the 1980s, financial capital (on net)

flowed from developing countries to developed countries.

The developing world experienced a substantial deterioration in both current and capital account balances

in the 1980s.

Which of the following is NOT part of a typical IMF macroeconomic stabilization program?

Introduction of wage and price controls to combat inflation.

Which of the following have been used to help reduce the Third World debt problem?

c. Debt-for-nature swaps

When a developing country incurs international debts

· the situation may impede development if the borrowed funds are invested in development projects with relatively low rates of return.

When private investors buy a developing country's commercial bank debts at a discount, then trade the debts for shares in a local state-owned asset (such as an electric utility company), this is called

· debt-for-equity swaps.

The debt problem of the 1980s is

as bad or worse than ever for many developing countries but largely solved for bankers and financiers in the developed world.
Kviz 15
Foreign direct investment (FDI)

b. flows to a very small number of developing countries

Which of the following is not an argument against private foreign investment in LDCs?

International reserves are likely to rise if multinational corporations are allowed to operate.

When a multinational corporation artificially inflates the price it pays for intermediate products purchased from overseas affiliates in an effort to lower stated local profits and pay lower taxes, the MNC is said to be practicing

· transfer pricing.

Private equity investment in LDC stock markets is seen by LDC governments as

· a and b are both correct

The major donors give, on average __________ of donor-country GNP in official development assistance.

· less than 1%

"Hot money" is

· private portfolio funds invested in a developing country that can be withdrawn very quickly.

In most major developed countries, official development assistance is what percent of developed-country GNP?

· less than 1%

Which of the following is not a reason why donor countries give official development assistance to developing countries?

· all of the above are reasons donor countries provide official development assistance.

Kviz 16

Which of the following is not an objective of macroeconomic stabilization plans?

· Reducing or eliminating unemployment

Monetary theory developed with Western countries in mind is limited in the developing country setting because

· a and b only

The Grameen Bank

· is an example of a group lending program.

When an LDC government requires commercial banks to charge interest rates well below the market level

· All of the above

As a proportion of GDP, personal income tax revenues

· are much lower in LDCs than in developed countries.

Public administration

· c. is scarce in many developing countries because of political instability and a lack of training and experience.

Most studies have demonstrated that

· once interest payments, subsidies, and tax arrears are accounted for, most state-owned enterprises have large operating deficits.

The share of developing country military expenditures in total world military spending

· has generally increased, but did fall in the 1980s.

Kviz 17

Most of the harmful greenhouse gases are produced by

· developed countries.

The non-binding blueprint to clean up the global environment and to encourage environmentally sound planning in the future is known as

· Agenda 21.

During the 1980s, which of the following calamities happened to sub-Saharan Africa?

· All of the above

Most people infected with HIV are

· Africans.

The Tobin tax is

· a tax on international currency transactions.

The Kyoto accord

· all of the above.

The International Development Association

· a and b only.

At the dawn of the 21st century,

· developing countries continue to be heavily dependent on developed countries.
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